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Find a word problem below. In order to receive full credit for this assignment, you must not only show your math work, but you must explain in writing how you solved the problem. 

1.  Hightop Roofing was $3765 in the “red” (owed creditors this amount) at the end of June. At the end of December they were $8765 in the “red.” Did they make or lose money between June and December? How much?
2. The following year, Hightop Roofing made $5000 in profit. How much more money did the company make compared to the year before? 

